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 ��������	���
�����
�������	�����
����
��������������������	����������������������
 �!"�#��$%�� 6  ��'������������(������������)*��%�����!"�#���
 �!"�#�)�+��� ��� 1(������������	��(���*�  ��-	��#.�%����������
�����
�������	  /	
��������	���
�����
�������	   
 ���������	
��
��������������������� 
 ��������	���!"�#�����
����������  �����(��-	��#.�%����������
�����
�������	(����� 
 X  /%� �0��1	��� 
 S.D. /%� �
���0
��������������3�� 
  n /%� +���
������	40���
��0�� 
  t /%� �0�� ���%����������%(��������3�� 
  * /%� �
������������-%��� ���%���
(�� .05 
 ������������������         
 ��*����
+���(��
�������.����������/����� ��%4�1���/	�
 ���!"�#�����
��8(�(���������
�����
�������	���	��(��(����� 
 ���	
� 1 �����	%��
8�����	40���
��0�� ���	
� 2  !"�#��
��������������������	����������������������
 �!"�#��$%�� 6       ��'������������(������������)*��%�����!"�#���
 �!"�#�)�+��� ���1 
 ���	
� 3  �������%����
��������������������	�������������������/	
���������-��������
 �!"�#��$%�� 6  ��'������������(�����(������������)*��%�����!"�#���
 �!"�#�)�+��� ���1 
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���	
� 4  �������%����
��������������������	����������������������
 �!"�#��$%�� 6 '����������(�	:�/	
���(�	��  ��'������������(�����(������������)*��%�����!"�#���
 �!"�#�)�+��� ���1 

 ���	
� 1 �����	%��
8�����	40���
��0�� 
 ����� 3  /�(������	%��
8�����	40���
��0��;"����<��������� ������
 �!"�#��$%�� 6 ��
+���$                 ���!"�#� 2553 +��/������)! 
 �!" #$���� ���%�� ��� 156 42.4 �-�� 212 57.6 ��� 368 100.0 

   +������� 3 )�
0� �	40���
��0���0
���-0��<����������-�� +���
� 212 �� ��(��<�  ����	
 57.61 ��<������������ +���
� 156 �� ��(��<�����	
 42.4  
 ����� 4 /�(������	%��
8�����	40���
��0��;"����<��������� ������
 �!"�#��$%�� 6 ��
+���$              ���!"�#� 2553 
 ���*+�,��
%� #$���� ���%�� �	:� 215 58.4 �	�� 153 41.6 ��� 368 100.0 
   +������� 4 /�(�
0� �	40���
��0����<����������$%�� 6 ������
 �!"�#��$%�� 6 ��'������������(������������)*��%�����!"�#���
 �!"�#�)�+��� ���1 ��<���������%�����0��'����������(�	:� 
215 �� ��(��<�����	
 58.4 /	
��<���������%�����0��'����������(�	�� +���
� 153 �� ��(��<�����	
 41.6 
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���	
� 2  �
��������������������	����������������������
 �!"�#��$%�� 6  ��'������������(������������)*��%�����!"�#���
 �!"�#�)�+��� ���1 
 ����� 5 /�(��0��1	��� �0��0
��������������3�� /	
�
(���
��������������������	�����            �����������������
 �!"�#��$%�� 6 ��'������������(�����(������������)*��%�����!"�#�  ��
 �!"�#�)�+��� ���1  ��
+���$���!"�#� 2553 
 (��� X  S.D. �
(���
��������� 1.(��������� ��%�� �4���.� /	
��������
��
���
(
� 3.53 0.555 ��� 2.(����4�	���/	
������������ 3.48 0.558 ����	�� 3.(�����+�������������	����� 3.49 0.552 ����	�� 4.(����0
��
	�%���������������	����� 3.51 0.554 ��� �
� 3.51 0.555 ��� 
 +������� 5 )�
0���������������
 �!"�#��$%�� 6 ��'������������(������������)*��%�����!"�#���
 �!"�#�)�+��� ���1 ���
��������������������	�����(��������� ��%�� �4���.� /	
��������
��
���
(
� ��B�)�
����0���
(����� ( X = 3.51) ��*��)�+��.������(��� )�
0� (���%�����0��1	�������4( �*� (��������� ��%�� �4���.�/	
��������
��
���
(
� ( X = 3.53) ���	����*�(����0
��
	�%���������������	����� ( X = 3.51) (�����+�������������	����� ( X = 3.49) (����4�	���/	
������������ ( X = 3.48) ���	��(�� 

 
 
 
 
 
 
 
 
 



 46 ����� 6 /�(��0��1	��� �0��0
��������������3�� /	
�
(���
�����������  ���������	����������������������
 �!"�#��$%�� 6 (��������� ��%�� �4���.�  /	
��������
��
���
(
�  
 (��������� ��%�� �4���.�/	
��������
��
���
(
� X  S.D. �
(���
��������� 1.'���������%��������	��������0� 3.57 0.562 ��� 2.%��������	�����������3��/	
�	�(B�� 3.51 0.577 ��� 3.%��������	����������
'����8(��	����0�� 3.52 0.542 ��� 4.�4���.��)���)� 3.56 0.564 ��� 

5.%������)���0�� 3.48 0.542 ����	�� 6.� ��%��������	������
0���)���)� 3.52 0.542 ��� 7.������(*���
��( 3.55 0.555 ��� 8.�������3�)����	��	�F 3.49 0.557 ����	�� �
� 3.52 0.555 ��� 
 +������� 6 )�
0���������������
 �!"�#��$%�� 6 ���
��������������������	�����(��������� ��%�� �4���.� /	
��������
��
���
(
� ��B�)�
����0���
(����� ( X = 3.52) ��*��)�+��.��������� )�
0� ���%�����0��1	�������4( �*� ��� 1 '���������%��������	��������0�  ( X = 3.57) /	
���%�����0��1	��������4(�*� ��� 5 %������)���0�� ( X = 3.48) 
 
 
 
 
 
 
 
 
 
 



 47 ����� 7  /�(��0��1	��� �0��0
��������������3�� /	
�
(���
�����������   ���������	����� �����������������
 �!"�#��$%�� 6 (����4�	���/	
������������ 
 (����4��	���/	
������������ X  S.D. �
(���
��������� 1.���+������%�������� 3.44 0.588 ����	�� 2.��������������	0���G� 3.50 0.552 ����	�� 3.�����������
�������*�������H����������(�+:� 3.48 0.552 ����	�� 4.������4(�������*������
������������	����� 3.52 0.537 ��� 5.����+����������	���������F 3.45 0.560 ����	�� �
� 3.48 0.558 ����	�� 
 +������� 7 )�
0���������������
 �!"�#��$%�� 6 ���
��������������������	�����(����4�	���/	
������������ ��B�)�
����0���
(������	�� ( X = 3.48) ��*��)�+��.��������� )�
0� ���%�����0��1	�������4( �*� 4 ������4(�������*������
������������	����� ( X = 3.52) /	
���%�����0��1	��������4(�*� ��� 5 ����+����������	���������F ( X = 3.45) 
 ����� 8  /�(��0��1	��� �0��0
��������������3�� /	
�
(���
��������������������	�����                �����������������
 �!"�#��$%�� 6 (�����+�������������	����� 

 (�����+�������������	����� X  S.D. �
(���
��������� 1.����(���)*���4�B�) 3.51 0.547 ��� 2.���
��� 3.47 0.561 ����	�� 3.��
'((��*�� 3.53 0.552 ��� 4.I4���	 3.51 0.557 ��� 5.
�	�	����	 3.48 0.567 ����	�� 6./�����	 3.48 0.532 ����	�� 7./J�(���	 3.47 0.541 ����	�� 8.�K���� 3.49 0.562 ����	�� �
� 3.49 0.552 ����	�� 



 48 +������� 8 )�
0���������������
 �!"�#��$%�� 6 ���
��������������������	�����(�����+�������������	����� ��B�)�
����0���
(����� ( X = 3.52) ��*��)�+��.��������� )�
0� ���%�����0��1	�������4( �*���� 3 ��
'((��*�� ( X = 3.53) /	
���%�����0��1	��������4( 2 ��� �*���� 2 ���
��� /	
��� 7 /J���		� ( X = 3.47) 
 ����� 9  /�(��0��1	��� �0��0
��������������3�� /	
�
(���
��������������������	�����                �����������������
 �!"�#��$%�� 6 (����
	��0
��
	�%���������������	����� 
 (����0
��
	�%���������������	����� X  S.D. �
(���
��������� 1.���� 6.00- 8.00 �. 3.53 0.556 ��� 2.�0�� 14.30 -15.30 �. 3.57 0.563 ��� 3.��:� 17.00-19.00 �. 3.44 0.544 ����	�� �
� 3.52 0.555 ��� 

 +������� 9 /�(�
0���������������
 �!"�#��$%�� 6 ���
��������������������	����� (����0
��
	�%���������������	����� ��B�)�
����0���
(����� ( X = 3.52) ��*��)�+��.��������� )�
0� ���%�����0��1	�������4( �*� ��� 2.�0�� 14.30 -15.30 �. ( X = 3.57) /	
���%�����0��1	��������4(�*� ��� 3. ��:� 17.00-19.00 �. ( X = 3.44) 
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���	
� 3  �������%����
��������������������	�������������������/	
���������-��           ������
 �!"�#��$%�� 6 ��'������������(������������)*��%�����!"�#���
 �!"�#�)�+��� ��� 1 
 ����� 10   /�(��	�������%����
��������������������	����������������������
 �!"�#�  

     �$%�� 6 ��'������������(������������)*��%�����!"�#���
 �!"�#�)�+��� ��� 1 +��/��                  ����)! 
 
�% ���, 	
� *��� 

X  S.D. X  S.D. t Sig 
1 ������ ��%�� �4���.� /	
��������
��
���
(
� 3.53 0.153 3.53 0.197 0.115 0.908 
2 (����4��	���/	
������������ 3.50 0.184 3.47 0.224 1.225 0.221 
3 (�����+�������������	����� 3.46 0.193 3.51 0.206 -2.254 0.025* 
4 (����0
��
	�%���������������	����� 3.54 0.277 3.50 0.312 1.206 0.228 
 �
� 3.51 0.098 3.50 0.124 0.409 0.638 
 �0� t (0.05 , 368 = 1.960) * ��������-%���
(�� 0.05 +������� 10 )�
0��
��������������������	��������������������-�� ������
 �!"�#��$%�� 6 ��'������������(������������)*��%�����!"�#���
 �!"�#�)�+������ 1  �$���!"�#� 2553 %�����0�(��������� ��%�� �4���.� /	
��������
��
���
(
� (����4�	���/	
������������ (�����+�������������	����� /	
(����0
��
	�%���������������	����� 8�0/���0�����  
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���	
� 4  �������%����
��������������������	����������������������
 �!"�#��$%�� 6 '����������(�	:�/	
���(�	��  ��'������������(�����(������������)*��%�����!"�#���
 �!"�#�)�+��� ���1 

 ����� 11 /�(��	����������%����
��������������������	��������������������                ��
 �!"�#��$%�� 6 ��'������������(������������)*��%�����!"�#���
 �!"�#�)�+���                 ��� 1 +��/��������('������� 
 ���*��-� ���*���, 	
� *��� 

X  S.D. 
X  S.D. t Sig 

1 (��������� ��%�� �4���.� /	
��������
��
���
(
� 3.53 0.176 3.52 0.184 0.431 0.667 
2 (����4��	���/	
������������ 3.49 0.208 3.48 0.209 0.359 0.720 
3 (�����+�������������	����� 3.50 0.205 3.48 0.197 0.750 0.454 
4 (����0
��
	�%���������������	����� 3.51 0.290 3.52 0.310 -0.100 0.920 
 �
� 3.51 0.105 3.50 0.125 0.571 0.568* 
 �0� t (0.05 , 368 = 1.960) * ��������-%���
(�� 0.05 
 

  

+������� 11 )�
0� �
��������������������	����������������������
 �!"�#� �$%�� 6   ��'����������(�	:�/	
���(�	�� %�����0�(��������� ��%�� �4���.� /	
��������
��
���
(
� (����4�	���/	
������������ (�����+�������������	����� /	
(����0
��
	�%���������������	����� 8�0/���0�����  
 

 


